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SECTION-A
(GECERAPHY)
Marks — 27

Answer Question Nos. 1 and 2 in a sentence each.

Why is petroleum known as liquid gold ? 1
cociferg P oonee TR AR SRR

What would be the consequence of a nuclear winter ? 1
Pl T Al va IR @31 AR ?

Answer Question Nos. 3 to 5 in about 30 words each.

Give two reasons for the setting up of National Parks and Sanctuaries
in Manipur. 2

Ao T o Sg CTepkaR Rrexes @ waw W@ Ay )

Contd.

Name two cities where metro rail is being operated in India. 2
TR (NG G BRUARS-Bef Cofaal v A S T |

Give two reasons why organic farming hasbeen taken up widely in
India. 2

oGl SsfifA NG ARFHT GNP T wame Ay |

Draw a full page outline map of India, and mark and name therein the
following: 1+1=2

mmmmﬂwm,w&mm%wﬁﬁtﬁwtmmaﬁ:
YRS 3 ‘ '

Hirakud Dam

% O |

Answer Question Nos. 7 to 10 in about 50 words each.

Give a brief account of the land resources of India. 3
RS FEh R e T e AW WIS |

Explain any three measures that would help in conservation of minerals.
3

ﬁamﬁam#c@wm GEMAT (AR AR ICHP| OIS |
Explain the three distinct cropping seasons of India. 3

TR W I LA TR 4G S T O |
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10.

Classify Indian forests from the administrative point of view. 3
A~ TSI TS SR e TSRS |

Answer Question No.11 in about 1 OQ words.,

11. Explain the different types of polluticn caused by industries in India. 5
SRIG] TG CARZT (SIS~ (OIS CPTEpAH WHEAIR “TCwTEeT SIS I
SECTICN - B
(HISTORY)
Marks - 27
Answer Question Nos. 12 to 15 in about 50 words each.
12. Write a short account of the First Nupilan of 19C4. 3
%2 e 1904 1 (AR WA FAFHN T ST 3 |
13. What were the contributions of the Young ltaly to the cause of the
movement for the liberation and unification of Italy ? 3
ST ST AR WA G o 3R (AR KR W w W e
wufi oA of W TR 2
14. State two impertant achievements of the Bretton Woods Conference,
1944. 3
% 1944 W1 SMsAiE @UEH WO SR SRR TR AR
T 33
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15.

16.

17.

18.
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Why was Manipur regarded to be very important by both the invading
Japanese forces in aid of the |.N.A. and the Allied forces.? 3

iR, @R, @, N A AR AR - N ww g w0 sneafc gwe
s ey T Twet N IRME 2
Answer Question Nos. 16 to 18 in about 30 words each.

Do you think that the Italians in the first half of the 19th century constituted
a nation in the real sense ? Give reasons for your answer. 2
IRl YB SRS Ten RbiEumte wf bo 5 neen wife sl
TR e ? Mg e Ay !

In what manner did the Indian press throw a challenge to the new press

regulations imposed by the colonial administration in 1942 ? 2

FegeT 1942 W RS AOTH! S - (SN 2u@ e st T swefe
CoreETl TRE] Te MRS 2
How were news aboul the events of the Civil Disobedience Movement

circulated among the people of India when there were severe restrictions

on the Indian press ? , 2

ARECE- s AT WITAl QT T ARG (S SRR TS (sM WSl aal
I3 ST SR 2 THrs =3t 7

Answer Question Nos. 19 and 20 in 2 sentence sach,

The Romanticists and the nationalists hiad many differences between
them. Yet they held a common view in one respect. What was that

common view ? 1

Contd.



criBRE sl GrtfERMe sms! caeaan i e g v SraLeHy 59 WE

cane. CERE | Bey R cae, sy T 7

20. Why was the movement against the Partition of Bengal, 1905, called as
the Swadeshi Movement ? 1
A SRl CATF TSN AR-CFT (AR 22 1905 N e g joen
S A cf 3RMen?

21. On the map drawn in question No. 6 indicate :

(a) the place with name where general Dyer fired on the crowd in Abril
1919.

{b) the place with name where a Khilafat Committee was formed in March
1918. 2
arsz e 6 F G Saes e 889 ¢

(8) 21919 7 wiEm e 13 W wicz= Grga1 Raraw! cneds et waay afizsh
CETE |

(b) % 1919 w6 wmw o S o wwa oy wfWesn cFmaAry

Answer Question No. 22 in about 100 words.

22. Explain the colonial trade policy of England and its impact on the
handicraft industries of India. 5
TS Q% SrEsR A SRR (N Sy MW SET W SReS Y
TZRA SIS B 25 AT TR 3 |

Or
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23,

24,

25.

28.
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How was the livelihood of the farm labourers and artisans of England

affected by the Industrial Revolution ?

Secaia Srmels SeTT (IR (T T95H! (TR GNP W N gl el
A g i Cerarl TeRe oS wRien 3 =g AREe?
SECTION-C

(POLITICAL SCIENCE)
" Marks - 13

Answer Question Nos. 23 to 25 in a sentence each.

Why did India adopt the democratic form of Government ? 1

TR SITOHE RN FAPRI AN AFEN TR SRACAT?

How does the Right to Information Act, help in bringing transparancy in
the working of our Government ? 1

FCOAT. FASEA G (ST TR TG TIAA A2 [ ZACTEACGHTA Pl WS
*fleaCst 2

How does the problem of Unemployment pose a challenge to democracy?
1

3P LTI TN STl FAWT NI S S3JTH 7
Answer Question No. 26 in about 30 words each.

“In India the constitutional arrangement of division of power seems to
be heavily tilted towards the centre.” Justify the statement by citing
examples. 2

‘o RYER =R RN Tows Mareen (o A Tl IR G,
W g A iy pI 2RE 8 |
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— Answer Question No. 32 in about 30 words

Answer Question No. 27 in about 50 words. 32. Give two reasons why we are so concernzd for the doininance of
; ’ agriculiure in occupational distribution of indian economy. 2
27. Whatare Pressure Groups ? Mention any two techniques used by them
to influence politics. 1+2=3 RPN orfecar Prreafieft wen cnS-Fiden -mvedh wwairh v s
: T AR A

cepma sFeifie TR IR TowRE ey T A e R Sog
R otz Answer Question No. 33 in about 50 words.

33. Explain Indo-Mynmar trade treaty as a part of India’s "Look East Policy”

Answer Question No. 28 in about .100 words. giving three points. 3
28. List any five points to prove that India is a Secular Country. 5 ST -TNR FCAH TR TH-c5 S SR IR el (A s
S GEAT ¢TI A ST TR |

S it «exfi Tise Them TR CoE 21 291 CSR1 THE W) N2 A i3 X |
Answer Question No. 34 in about 100 words.

- SECTION -D
(ECONOMICS) 34.. Explain the indicators of development. 5
Marks — 13 BISARPY T AGZAR *M0T NS NIAT AT GG |
arks —

Answer Question Nos. 29 to 31 in a sentence each.

29. What is money ? 1

e Rt e o
30. What is the traditional source of credit ? 1

WAL YSTA (o1 ofFN TfT I Q3T 7

31. Which sector of the economy tends to dominate the economies of
developing nations ? 1

= ¢ : 2 ol -7
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